

عسر و آسار دادرسی
در مجموع نامحسوس



(۶) $\frac{1}{x^2} = x^{-2}$ ، $\frac{d}{dx} x^{-2} = -2x^{-3} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

$\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

(۷) $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

$\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

$\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

(۸) $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$

$\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$ ، $\frac{d}{dx} \frac{1}{x^2} = -\frac{2}{x^3}$